i Page 1/6
RUGGED
RIDGE’ i Part # 11704.05
1 ®

OMIX-ADA, Inc.

460 HORIZON DR. SUITE 400 | SUWANEE, GA 30024 | PHONE: 770-614-6101 | FAX: 770-614-6069 | info@omix-ada.com

Roof Top Tent

This Roof Top Tent is designed to mount on most OE and aftermarket roof rack/crossbar systems. Consult your
owner's manual for weight restrictions.

Place tent and tent base with holes face up on a clean, protected surface. Slightly open up tent, open up
enfrance and remove all parts from the interior of the
tent.

Direction of Opening

Before you fit your new Roof Top Tent to your vehicle, determine which side of the vehicle you want your tent to
open. Read instructions thoroughly before assembling and installing this product. Product may vary from image.
Periodically check torque of all hardware.

Components
1. ROOFTOP TENT...iiiieieieeteee e (1) 12.M6 x 18mm HeX Bolt......cccoevivviieiieieeieeieee (2)
2. WINAOW RO.....cooviieiieeeeceeeeeeeeee e, (8) 13.Mé Flat Washer........cccooevveeeiieeieccieeeee (16)
3. AIUMINUM RAIIS.....oos (2) 14.M6 NYIOCK NUE...ooienic e (10)
4. Ladder Mounting Bracket...........ooccvecneenn. (2) 15.M6 PIaSHC WAShET........ovoerveeveesss s (4)
5. quder ............................................................ (1) 16.5N0E BOG. v, (1)
6. Slide Plate.......oivieeiiiieiieee e, (8) 17 Tent Cover (1)
7. BASE PlAT€..uiiiiiciiiiieeeee e (4) T T T st
8 M8 XS5mMMBOIt.....ciiiii (8)
9. M8 Flat WAShEr......ccoocivieieeiiieeeeieee e, (8)
10. M8 NYIOCK NUT...ooiiiiiiiiiiieceee e (8)
11. M6 X 40mm HeX BOlt....oooiviiiiieiiieeeeiieee, (8)

OMIX-ADA® TECHNICAL SUPPORT
PHONE: M-F 8am - 5pm EST 1-800-449-6649 | EMAIL: techsupportf@omix-ada.com

FOR WARRANTY INFORMATION VISIT: www.Omix-Ada.com




Page 2/6

OMIX-ADA, Inc.

460 HORIZON DR. SUITE 400 | SUWANEE, GA 30024 | PHONE: 770-614-6101 | FAX: 770-614-6069 | info@omix-ada.com

Roof Top Tent

1. Lay the tent on its side on the ground. Using
the supplied Mé bolts and washers, lift the
mafttress and insert the bolts into the pre-drilled
holes. Align the aluminum rails with the
previously installed Mé bolts through the floor.
Slide the Mé nuts into the tfrack and tighten the
bolts from inside the tent. Do not over tighten
hardware.

Tech Tip: We recommend using a blanket or
tarp when placing the tent on the ground to
keep the tent clean.

Mé6 Bolt

/ Washer
/

Tent Base

T /
] E e Mé Nylock Nut

Aluminum Rails

7]

¥
A

The Aluminum Rails fitted to the base of the Roof Top
Tent with the slide plate and bolf fitted.

2. Attach ladder brackets to the base of the
tent using Mé bolts. Bolt each ladder
bracket to the base of the tent through
the pre-drilled holes.

3. Mount the ladder brackets to the ladder
using the supplied Mé bolts, washers, plastic
washers, and nut. Plastic washers will go on
both sides of the bracket on the ladder. Do not
over tighten bolts, there should be a slight
resistance when rotating the ladder.

Tech Tip: Thread locker is recommended for
these bolts as an extra measure for vibration
resistance.




Page 3/6

OMIX-ADA, Inc.

460 HORIZON DR. SUITE 400 | SUWANEE, GA 30024 | PHONE: 770-614-6101 | FAX: 770-614-6069 | info@omix-ada.com

Roof Top Tent

4. With help, carefully lift the tent onto the
vehicle. Insert M8 bolts into the slide plate. Slide
the plate and bolf into the aluminum rails. Bolts
should be located on either side of the cross
bars. Slide two plates from the rear and one
from the front, ensuring there are 4 per rail
when complete.

5. Secure the rooftop tent to your roof rack or roof
bars. Use 2 M8 bolts and 2 slide plates with the
base plate to secure the bar. If the cross bars are
too far apart the center will not be properly
supported and may be damaged.

Do not over tighten nuts because this will cause
the bolt head to strip the aluminum slide plate.

Periodically check torque of all hardware.

6. Release the hook and loop straps on all
sides of the tent.




i Page 4/6
RUGGED
RIDGE’ Iy

1 ®

OMIX-ADA, Inc.

460 HORIZON DR. SUITE 400 | SUWANEE, GA 30024 | PHONE: 770-614-6101 | FAX: 770-614-6069 | info@omix-ada.com

Roof Top Tent

7. Carefully extend the ladder until it clicks info
place. Springs should engage.

8. Use the ladder as leverage to open the ftentf,
carefully folding it to the open position.

9. Allow the ladder to rest on the ground. If the
ladder is extended too far it will need to be
adjusted. (See next step) The ladder should be at
a slight angle so it can support the tent while
open.




Page 5/6

1
RAUGGED
RAIDGE
i ®

OMIX-ADA, Inc.

460 HORIZON DR. SUITE 400 | SUWANEE, GA 30024 | PHONE: 770-614-6101 | FAX: 770-614-6069 | info@omix-ada.com

10. The ladder features several adjustment holes.
Additional holes may be drilled if needed. Do not
:‘“%::—:—::EEALEQ;: B — _ o

drill holes below the bottom pre-drilled hole. o
— ‘ﬁgﬁ:¥ i;ij T —— —
Tech Tip: Use a 3/8" drill bif fo drill new adjustment | A R
holes. ,‘1/“5‘[3‘} \ \ \\
i \ \
o i R \
‘:::t:rjsz[ in} L —

Bottom-most pre-drilled hole

Spring-loaded locking position

11. To lock the knobs into the open position, pull
the knob up and turn it 1/4 turn. To unlock, furn
another 1/4 turn. This will engage the spring.

Unlocked raised
position

12. To install the tent flap rods, locate the slots on
I

the base of the tent flap and insert the rods into
the pre-drilled holes. Ensure the rods are inserted

completely.

\




Page 6/6

OMIX-ADA, Inc.

460 HORIZON DR. SUITE 400 | SUWANEE, GA 30024 | PHONE: 770-614-6101 | FAX: 770-614-6069 | info@omix-ada.com

Roof Top Tent

13. Place the hook end of the rod through the
grommet on rain/shade cover with the hook
part facing outward and downward.

Storage and Handling Guidelines Cautions

e Do not store the tent wet.

® Adding a tent increases the height of your vehicle and alters its center of gravity. Use
caution.

e Periodically ensure all nuts and bolts are attached and are tight. Failure to follow these
instructions will void the warranty.

Care Instructions

oClean only with cold water and a soft brush - do not use soap or detergent, this will
remove the waterproofing compounds.

®Do not expose to petrol, oil or solvents.





